
Time: 10 Minutes Paper Math 4 Total Marks: 10

4th Month, 2nd Week, 6th Day Revision Test Syllabus (Second week)

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. 5.69 + 2.98 = _________.

(a) 8.67 (b) 8.60 (c) 8.77 (d) 8.87

ii. 6.02 + 1.84 = __________.

(a) 7.81 (b) 7.91 (c) 7.86 (d) 7.98

iii. 49.3 + 21.6  = __________.

(a) 70.9 (b) 70.7 (c) 79.9 (d) 78.7

iv. 7.88 – 6.19 = ___________.

(a) 1.60 (b) 1.69 (c) 1.70 (d) 1.89

v. 78.9 – 7.84 = ___________.

(a) 71.10 (b) 91.07 (c) 81.07 (d) 71.06

Q.No.1. Zubair bought a chocolate for Rs. 45.7 and a candy for Rs. 10.2. How

much amount did he spend altogether: (5)
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